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Practice Problems...

Page 194 ­ 195
#8, 10, 11, 12, 13, 20

Bonus: [3 points]

Completely factor the following:

Factoring Quiz Tomorrow
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Functions and Relations 112B
Quadratics Unit Review

1. The TD Centre in Winnipeg, Manitoba is 158m high. Suppose that a ball is projected upward from the

top of the Centre and its position , b, in metres above the ground is given by &= —12¢2 +60¢+158
where t is time in seconds, determine

a. The maximum height reached by the ball

b. At what time the ball reaches its maximum height

c. The height of the ball 4 seconds after releasedh

What is the equation of the axis of symmetry of the parabola y = x2 +6x+9

IS

3. Write the equation of the quadratic in the form y= ax? + bx + ¢ with roots -2 and %

4. Given the following data, determine the equation that represents the data: (algebraically or using the
calculator) ‘

n A S 6 7 8 9
by 32 53 80 i3 1521 10

»
»

5. Given the following general form for the quadratic: y = —2x% +20x +10, determine

a. the standard and transformational form of the quadratic
b. sketch the quadratic

6. Solve each of the following:  a. 6x> —x+7=9
b, 3x(x-1)—4(x—6)=0

6 4
+

x-2 zx+1

=8

7. Determine the equation of the quadratic with vertex (-1, 4) and passing through the point (3,2). .
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>)‘ 0.2 )Q,L,' iR )3% wb]8. Given £, :—n—iﬁi , determine the first five terms of the sequence.
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9. Atabike rally sponsored‘by the Math Club at a local high school the instructions to drivers and
navigators are given as math problems:  One set of instructions is as follows: Given the function
y=3x2-120x+1260 , find

a) the total distance to be travelled (in km) is the minimum value of the function.
b) The x-value of the vertex is the speed to travel
c) The value of the function where x=40 will tell you the total prize money that can be won.

10. (a) What is the discriminant of 3x%+ 5x +12=07?
(b) Find the complex roots of the equation 2x* —3x+9=0 .
(c) Determine the value(s) of k if the quadratic equation x? —6x —k = 0 has imaginary roots,
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